Table 1: Table of Laplace Transforms (we consider all functions (signals) as defined only
ont>0)
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Table 2: Table of Laplace Transforms Properties

Operation f(t) F(s)
Addition fi(t) + fa(t) Fi(s) + Fy(s)
Scalar multiplication kf(t) kF(s)
Time differentiation Z—j; sF(s) — f(0)
dkf k k—1 k—2 ¢ (k—1)
O F(s) — #(0) — £72(0) — .~ [ (0)
t
Time integration f(r)dr ;F(s)
0
Time shift ft=1T) e TF(s)
1 s
. > — p—
Scaling flat), a>0 aF <a>
Frequency shift e f(t) F(s—a)
dF
Frequency —tf(t) dis
differentiation
Frequency integration %t) / F(s)ds
Time convolution f1(t) * fa(t) Fi(s)Fy(s)




